
TS    PRIMITIVES    feuille  12 

Pour les exercices 22 à 25, donnez une primitive de la fonction  f  sur l’intervalle I : 

 

 

 EXERCICE 22 

a) f (x) = 3cos x – 2 sin 2 x + 1 I = R 

 

b) f (x) = sin (
 

 
      I = R 

 

 

 EXERCICE 23 

 

a) f (x) = sin x cos x   I = R 

 

b) f (x) = 
 

       
     I = [      [

 

 
 

 

 

 EXERCICE 24 

 f (x) = (                     I = R 

 

 

 

 EXERCICE 25 

a)  f (x) = tan x +         I = [ 
 

 
   

 

 
[ 

 

b) f (x) =          I : [    
 

 
[ 
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